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The Extinction Probability of Two-sex Branching Processes

with Offspring and Mating in a Random Environment

Student:Han-Yu Sung Advisor:Dr. Nan-Fu Peng

Institute of Statistic
National Chiao Tung University

Abstract

We introduce a model _of :discrete-time two-sex branching
processes with offspring and mating in.a' random environment. The
environmental process: ‘develops from .independent but not
necessarily identically- distributed random: vector. The limiting
probability of two-sex branching processes is derived. We
determine some relationships -among-the limiting probability and
extinction probability. The .simulated examples are given as the
estimations of extinction probability.

Keywords: Random environment process; two-sex branching
process; extinction probability
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A b Poc(i=1) | Pou(A=15) | Pex(1=2) | Per(A=25) | Peu(A=3) | Pou(4=35) | Pes(A=4) | Puc(A=45) | Per(A=5)
0.5 0.5 0.04 0.188 0.328 0.998 1.0 1.0 1.0 1.0 1.0
0.5 0.75 0.364 0.182 0.062 0.032 1.0 1.0 0.396 1.0 1.0
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2 0.75 0.022 0.042 0.324 0.274 1.0 1.0 1.0 1.0 1.0

2 1 0.002 0.026 0.008 0.004 0.002 0.116 0.074 1.0 1.0

2 1.25 0.018 0.024 0.0 0.036 0.02 0.112 0.028 0.018 0.184
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A b Pua(A=1) | Puu(A=15) | Puld=2) | Peu(2=25) | Pua(=9) | Pea(4=35) | Pua(A=4) | Puu(2=45) | Pun(A=5)
05| 05| 0.132 0.05 | 0.998 1.0 1.0 1.0 1.0 1.0 1.0
0.5| 0.75 | 0.032 0.116 | 0.332 0.418 1.0 0.286 1.0 1.0 1.0
0.5 1 0.02 0.15 | 0.094 0.552 | 0.602 1.0 1.0 1.0 1.0
0.5 | 1.25 0.2 0.088 | 0.098 1.0 0.998 1.0 0.622 1.0 1.0
0.5 15| 0.104 0.508 | 0.048 0.014 | 0.626 1.0 1.0 1.0 1.0
0.5 2 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0

075 | 05| 0.076 0.378 | 0.014 0.998 1.0 1.0 1.0 1.0 1.0

0.75 | 0.75 | 0.022 0.052 | . 0.064 0.032.]" 0.018 0.016 1.0 1.0 1.0
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1 1.25 0.01 0.0 0.0 0.012 | 0.014 0.034 | 0.056 0.052 | 0.004
1 1.5 0.0 | 0.002 0.0 | 0.002| 0.016 0.006 | 0.02 0.032 | 0.03
1 2| 0.006 00| 0002 | 0016 | 0.028 0.0 | 0.024 0.018 | 0.02

1.25| 05| 031| 0276 | 0.022 1.0 1.0 1.0 1.0 1.0 1.0

1.25 | 0.75 | 0.004 0.01 | 0.062 | 0.102 | 0.006 0.062 1.0 1.0 | 0.274

1.25 1 00| 0012| 0.024| 0.078| 0.032 0.002 | 0.318 0.05| 036

1.25 | 1.25 0.0 0.0 | 0.004 | 0.038| 0.008 0.008 | 0.014 0.14 | 0.03

1.25 | 1.5 00| 0004| 001| 0.008| 0016 0.014 | 0.082 0.01 | 0.016

1.25 2 0.0 | 0.008 | 0.002 0.0 | 0.008 0.002 | 0.054 0.014 | 0.008

1.5 05| 0192 | 0.182| 0.922 1.0 1.0 1.0 1.0 1.0 1.0

1.5 | 0.75| 0.052| 0.006 | 0114 | 0232| 0.03 1.0 | 0.998 1.0 1.0

1.5 1| 0.004| 0016| 0002 | 0.048| 0.118 0.164 | 0.142 0.054 | 0.904
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1.5 1.25 | 0.006 0.0 | 0.016 0.006 | 0.004 0.056 | 0.042 0.036 | 0.064
1.5 1.5 | 0.002 0.002 | 0.004 0.01 | 0.006 0.038 | 0.038 0.024 | 0.046
1.5 2 0.05 0.006 | 0.004 0.01 | 0.008 0.016 | 0.006 0.026 | 0.062
2 0.5 | 0.078 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
2 0.75 | 0.022 0.15 | 0.118 0.394 1.0 1.0 1.0 1.0 1.0
2 1| 0.004 0.002 0.0 0.15 | 0.014 0.038 | 0.828 0.166 | 0.492
2 1.25 | 0.008 0.0 0.0 0.02 0.0 0.038 | 0.002 0.348 | 0.592
2 1.5 | 0.028 0.01 | 0.002 0.022 0.01 0.008 | 0.012 0.074 | 0.058
2 2| 0.034 0.032 0.01 0.002 | 0.014 0.008 0.02 0.0 | 0.044

¥ 3T % 1-2 2,=25

Z, = 25,n=50,sim=50,

A b Poc(2=1) | Poc(2=15) | Peu(=2) | Pe(2=25) | Pec(4=3) | Pex(A=35) | Pew(i=4) | Pu(1=45) | Puc(2=5)
05| 05| 0.166 0.508 | 0.408 1.0 1.0 1.0 1.0 1.0 1.0
05| 0.75 | 0.074 0.02 | 0134 0.186 | 0.096 1.0 1.0 1.0 1.0
0.5 1| 0.048 0.04 | -0.026 0.11 0.67 0.154 | 0916 1.0 1.0
0.5 | 1.25 0.11 0.288 |= 0.152 0.654 | 0.178 0.974 1.0 1.0 1.0
05| 15| 0.278 0.788 | 0.144 0.212 1.0 0.998 | 0.146 1.0 1.0
0.5 2| 0446 0.694 | ".0.316 1.0 1.0 1.0 1.0 1.0 1.0

075 | 05| 0.072 0.024 | 0488 0.368 1.0 1.0 1.0 1.0 1.0

0.75 | 0.75 | 0.006 0.044 | 0.032 0.097(" '0.246 0.332 0.32 1.0 1.0

0.75 1] 0.004 0.016 | 0.012 0.086 | 0.126 0.05 | 0.028 0.252 | 0.208

0.75 | 1.25 | 0.002 0.016 | 0.036 0.022 | 0.106 0.006 | 0.178 0.1 0.116

0.75 1.5 | 0.018 0.006 0.02 0.034 0.01 002 | 0.092 0.144 0.2

0.75 2 0.02 0.008 | 0.038 0.02 | 0.032 0.004 | 0.058 0.03 | 0.522
1 0.5 | 0.002 0.062 | 0.046 0.998 1.0 1.0 1.0 1.0 1.0
1 0.75 | 0.002 0.048 | 0.078 0.028 | 0.032 0.054 | 0.322 1.0 1.0
1 1| 0.008 0.006 | 0.016 0.004 | 0.054 0.036 0.05 0.383 | 0.042
1 1.25 0.0 0.002 | 0.002 0.012 | 0.002 0.038 | 0.074 0.116 | 0.128
1 1.5 | 0.002 0.004 | 0.002 0.006 | 0.018 0.018 | 0.068 0.0 | 0.042
1 2 | 0.004 0.004 | 0.002 0.024 | 0.028 0.008 0.03 0.054 0.03

1.25 0.5 0.2 0.084 | 0.518 1.0 1.0 1.0 1.0 1.0 1.0

1.25 | 0.75 | 0.014 0.046 | 0.024 0.304 | 0.092 0.52 | 0.224 1.0 1.0

1.25 1| 0.014 0.0 | 0.034 0.006 | 0.004 0.144 0.03 0.042 | 0.264

1.25 | 1.25 | 0.034 0.0 | 0.002 0.012 | 0.004 0.008 | 0.024 0.01 | 0.068
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1.25 1.5 0.01 0.0 | 0.002 0.002 | 0.012 0.012 | 0.002 0.062 | 0.028

1.25 2| 0.018 0.01 0.002 0.012 | 0.008 0.01 0.014 0.03 | 0.032

1.5 0.5 | 0.304 0.498 1.0 1.0 1.0 1.0 1.0 1.0 1.0

1.5 0.75 | 0.002 0.036 0.076 0.094 | 0.284 0.232 0.6 1.0 1.0

1.5 1| 0.024 0.008 0.014 0.012 0.13 0.042 | 0.026 0.69 1.0

1.5 1.25 | 0.004 0.02 0.002 0.0 | 0.012 0.016 | 0.008 0.024 | o0.108

1.5 1.5 | 0.008 0.0 0.0 0.0 | 0.018 0.018 0.02 0.04 0.11

1.5 2 | 0.016 0.002 0.0 0.0 0.0 0.004 0.0 0.006 0.01

2 0.5 | 0.464 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0

2 0.75 | 0.002 0.062 0.082 0.098 1.0 1.0 1.0 1.0 1.0

2 1| 0.004 0.004 | 0.008 0.064 | 0.028 0.088 0.354 1.0 1.0

2 1.25 | 0.012 0.018 0.004 0.028 | 0.028 0.064 | 0.068 0.25 0.34

2 1.5 | 0.004 0.002 0.0 0.006 | 0.044 0.048 0.012 0.048 | 0.126

2 2 | 0.026 0.0 | 0.002 0.002 0.0 0.002 | 0.018 0.012 | 0.038

2R AHEF % 12 2,=50

Z, =50,n=50,sim=50,

a b Pac(A=1) | Pe(2=15) |["Pea(A=2) | Peu(A=25) | Pa(A=3) | Pe(#=35) | Pou(i=4) | Peou(1=45) | Per(4=5)
0.5 0.5 0.066 0.196 1.0 1.0 1.0 1.0 1.0 1.0 1.0
0.5 0.75 0.092 0.044 0.606 0.208 0.384 1.0 1.0 1.0 1.0
0.5 1 0.096 0.096 0.012 0.166 0.63 1.0 0.578 1.0 1.0
0.5 1.25 0.37 0.006 0.008 0.01 0.214 0.078 0.316 1.0 1.0
0.5 1.5 0.126 0.074 0.092 0.51 0.354 1.0 1.0 0.704 1.0
0.5 2 0.17 0.998 0.004 1.0 1.0 1.0 1.0 1.0 1.0

0.75 0.5 0.168 0.59 0.162 1.0 1.0 0.28 1.0 1.0 1.0

0.75 0.75 0.0 0.004 0.018 0.164 0.1 0.194 1.0 0.574 1.0

0.75 1 0.006 0.008 0.028 0.07 0.09 0.256 0.16 0.088 0.288

0.75 1.25 0.002 0.0 0.006 0.02 0.028 0.088 0.03 0.232 0.078

0.75 1.5 0.012 0.032 0.052 0.008 0.06 0.018 0.022 0.048 0.608

0.75 2 0.002 0.034 0.008 0.02 0.05 0.1 0.062 0.106 0.348
1 0.5 0.068 0.346 0.3 0.672 1.0 1.0 1.0 1.0 1.0
1 0.75 0.018 0.01 0.0 0.052 0.156 0.148 1.0 1.0 1.0
1 1 0.0 0.002 0.012 0.012 0.014 0.078 0.022 0.084 0.248
1 1.25 0.004 0.01 0.006 0.004 0.018 0.006 0.002 0.062 0.04
1 15 0.0 0.0 0.002 0.008 0.002 0.03 0.048 0.118 0.056
1 2 0.004 0.0 0.006 0.006 0.004 0.02 0.044 0.008 0.054
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1.25 0.5 0.142 0.858 0.044 1.0 1.0 1.0 1.0 1.0 1.0
1.25 0.75 0.0 0.048 0.046 0.044 0.492 0.596 0.33 1.0 1.0
1.25 1 0.002 0.008 0.0 0.008 0.04 0.024 0.088 0.044 0.364
1.25 1.25 0.002 0.004 0.002 0.004 0.0 0.022 0.018 0.044 0.136
1.25 1.5 0.006 0.0 0.004 0.002 0.014 0.032 0.03 0.052 0.018
1.25 2 0.022 0.0 0.0 0.0 0.0 0.002 0.004 0.012 0.01
1.5 0.5 0.37 0.878 1.0 1.0 1.0 1.0 1.0 1.0 1.0
1.5 0.75 0.0 0.032 0.09 0.19 0.534 0.724 0.586 1.0 1.0
1.5 1 0.002 0.004 0.01 0.008 0.016 0.038 0.03 0.364 0.7
1.5 1.25 0.002 0.004 0.002 0.004 0.002 0.008 0.02 0.11 0.048
1.5 1.5 0.028 0.004 0.0 0.004 0.006 0.008 0.002 0.014 0.004
1.5 2 0.016 0.01 0.0 0.0 0.004 0.0 0.0 0.002 0.012
2 0.5 0.736 0.498 1.0 1.0 1.0 1.0 1.0 1.0 1.0
2 0.75 0.026 0.02 0.104 0.304 0.862 1.0 1.0 1.0 1.0
2 1 0.0 0.0 0.014 0.036 0.098 0.102 0.47 0.572 1.0
2 1.25 0.01 0.0 0.01 0.0 0.038 0.058 0.114 0.086 0.376
2 1.5 0.006 0.0 0.006 0.0 0.004 0.026 0.042 0.038 0.076
2 2 0.01 0.018 0.008 0.0 0.0 0.01 0.008 0.014 0.006
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Z 1 5T % 1-3 H 2y, :%,VK:O,...,n—l

Z, = 25,n=50,sim=50, 77, :%,VK =0,..,n-1

a b Poc(i=1) | Pou(A=15) | Pe(1=2) | Per(A=25) | Peu(A=3) | Pou(4=35) | Pes(A=4) | Puc(A=45) | Per(A=5)
05| 05| 0.028 0.012 | 0.256 0.866 | 0.206 0.772 | 0.656 0.56 1.0
05| 0.75 | 0.032 0.034 0.0 0.012 | 0.026 0.04 | 0.112 0.114 0.3
0.5 1| 0.022 0.054 | 0.068 0.06 | 0.046 0.14 0.14 0.068 | 0.214
05| 1.25 | 0.016 0.004 | 0.078 0.048 | 0.084 0.008 | 0.158 0.198 | 0.018
05| 1.5 0.09 0.142 | 0.006 0.024 | 0.058 0.024 | 0.074 0.13 | 0.206
0.5 2 0.07 0.136 | 0.354 0.064 | 0.398 0.512 | 0514 0.208 0.34

1 6HR T % 1-3 F 2, :ﬁ,w =0,..,n-1

Z, = 25,1=50,5im=50,6, =—2— vk =0,....n-1

a+b

a b Pec(A=1) | Pe(1=15) | Puu(1=2) | Pu(A=25) | Pes(i=3) | Poa(1=35) | Puou(A=4) | Pea(i=45) | Pui(4=5)
05| 05 0.01 0.0 0.03 0.03 0.1 0.02 0.0 0.01 0.07
0.5 | 0.75 0.0 0.01 0.05 0.0 0.03 0.01 0.02 0.02 0.04
0.5 1 0.0 0.02 0.0 0.02 0.05 0.03 0.02 0.03 0.0
0.5| 1.25 0.0 0.03 0.03 0.01 0.07 0.0 0.0 0.0 0.04
05| 1.5 0.01 0.02 0:01 0.02 0.0 0.08 0.03 0.0 0.0
0.5 2 0.0 0.0 0.0 0.01 0.0 0.0 0.01 0.02 0.0

L TR % 13 F T, :ﬁ,VKzo,...,n—l

2, = 25,1=50,5im=50,73, = —,6, =—— vk =0,...n—1

A a+b

a b Pu(2=) | Pea(2=18) | Pould=2) | Poul2=25) | Pua(4=3) | Puu(A=35) | Puuld=4) | Pou(d=45) | Pu(i=5)
05| 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0.5 | 0.75 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0.5 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0.5 | 1.25 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
05| 1.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0.5 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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¥ 8HR T % 2

n=5,sim=1000
Z0 7] Poc(i=1) | Pec(A=15) | Put(1=2) | Peu(A=25) | Pet(A=3) | Pe(1=35) | Pou(A=4) | Poc(1=45) | Pui(4=5)
5| 0.25 10 10 10 | 0999983333 | 0.999966667 | 0999858333 | 0.999766667 | 0.999616667 | 0998858333
5 0.5 10 10 1.0 10 | 0999966667 | 0999916667 | 0999833333 | 0.999483333 | 0.996908333
51 075 099995 0998725 | 0995116667 | 0967166667 | 0.931133333 | 0.836641667 | 0.701041667 0.5364 0.247975
10 | 025 10 10 1.0 1.0 10 10 10 | 0999991667 10
10 0.5 10 10 1.0 1.0 10 10 1.0 1.0 09997
10 | 0.75 10 0999925 | 0999558333 099255 | 0981716667 | 0946841667 | 0.890841667 0.800675 | 0558808333
251 025 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
25 0.5 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
25 | 0.75 10 10 | 0999991667 0999875 | 0999158333 | 0.995791667 0986375 | 0965841667 | 0.869383333
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